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All questions are compulsory.

Questions number 1-5 are of 1 mark each. The answers to these
questions should not exceed 20 words each.

Questions number 6- 10 are of 2 marks each. The answers to these
questions should not exceed 40 words each.

Questions number 11- 16 are of 4 marks each. The answers to these
questions should not exceed 100 words each.

Questions number 17 - 21 are of 5 marks each. The answers to these
questions should not exceed 150 words each.

Question number 21 is a map-based question. Write its answers in your
answer-book.

Questions number 22 - 27 are of 6 marks each. The answers to these
questions should not exceed 150 words each.

“siier N o fopelt wep aftomy i IR HfT |
Highlight any one consequence of ‘Shock Therapy’.

HIEh{deh &5 T Jed 1 Hd T HINT |

Explain hegemony as a soft power.
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S AN AT R dr=d 7 R G 370 1 FHIE AT AR 2 1
Why do some people feel that Article 370 should be revoked ?

39 el dh HEUd & (o STUTAehId hl YT 4 WA H Ve o HETcHh
foraor &1 SHeIR foham 3 2 1

How far do you agree that the proclamation of emergency weakened the
federal distribution of power in India ?

“gretaTe, |IYETTHehal  THM WatTh 6l 8 |7 =i Sasy | 1
Justify that “Regionalism is not as dangerous as Communalism”.

TN avie o 9 AUl R 61 9g=H hi | 2
Identify the most important outcome of the Rio Summit.

i |9 o e § 9y T SN H8 AwIi=ra g3 ? 2
How was the U.S. benefited by the Soviet disintegration ?

JeTeRTT o Tehegl &1 AT W1 Secid iy | 2x1=2

Mention any two benefits of globalisation.

U 61 forg fafsmedr 3 YR & Tdsdr TeleH & eRH, 38 Ush foeiicHs
TSe=e ST ? 2

Which characteristics made the Congress an ideological coalition during
the freedom movement of India ?

UIfhEd™ | 3o H¥a-g S o foTT s g 3™ g3msy | 2x1=2
Suggest any two measures to have good relations with Pakistan.
T 3R = o off= qeawdi § 19 o BN T Jedeh hioT, | 4

Evaluate the causes for the strained relations between India and China.

g shif=a <ht feem o Wicames & & Tt WG TR g0 S19ATS 718 WHId bl
guig i | 4

Describe the strategy adopted by the Government of India to promote the
Green Revolution.

e STl AR i fohegl &l T&I AT 1 Joci@ I | 2x2=4

State any two main demands of the Narmada Bachao Aandolan.
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14. UTOUTEh AT % & § GgA o W shi ST il | 4

Explain the importance of cooperation in the field of ‘Traditional
Security’.

15. fosafaai =61 <9 Bred & fou foem & areft aitfeafat 6 smen il |
forearelt sronfeRIt <t TgrIar s H WRA i fHeRT i IR HIT | 2+2=4

Explain the circumstances that forced the Tibetans to leave China.
Highlight India’s role in helping the Tibetan refugees.

16. TSHYT THR Ueh-Geild ThRI hl ol H fohd TR ATeh Alshaitieh fag i
3°? 4
In what way do the coalition governments prove to be more democratic
than the one-party governments ?

17. = fu Tu s w1 eHgEs eE Hifve i ffaRed s % 3w
AT
Tefrier 1 A W g ¥ Hed § = o | ... S g ¥ fee
3R 1991 # Sftq g I THId o WY &, Teh FAAS G IR 9RA 6
facw fifa 1 g We W ®9 H RUS H TERRAl dUT THIERINT |
et it AR |
()  9RA A TeiTuerar i Hifd 1 F=i T ?
(i)  TefRUe TG i TRl § HH T o foheal @ HRUT Pl T
HIT |
(iii) 379 HET qh TEEA & b RIS AETH, Th ST HGeH a9 T
g7 1+2+2=5
Read the given passage carefully and answer the following questions :

Non-alignment as a strategy evolved in the Cold War context.
.. with the disintegration of USSR and the end of Cold War in 1991,
non-alignment, both, as an international movement and as the core of

India’s foreign policy, lost some of its earlier relevance and effectiveness.
(1) Why did India adopt non-alignment ?

(ii1) Explain any two reasons for the loss of its relevance by the
Non-Aligned Movement.

(iii) How far do you agree that the Non-Aligned Movement has become
an international movement ?
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18. = ﬁlz T I T AMYAH T hivg, R Fr=fefgd Tei % IW

wﬁa@m&%%muﬁ%%ﬁﬁﬁw%%@ﬁﬁﬁﬁﬁ

fieft | 979 &7 *8d 8 T WG I SAehas AT B, A1 $HehT HIEN-GT Hdas ST

W TE gl b WRA T SAlehdiiieh Ai9EM W 0 8dT 8 a1 IRd °H g9

HETT AT & | WRA o AR B 1 Ueh Jaal 1 B | Thad il g+ &l

a1 ot TAfSraanen &l ug=aHAT 3R 3% TR AT | A1 &, I8 R et

fop fafvrmareti # stoeh fatiy off 1 wepd € | GEX Weql H e oI WRA H Alehad

1 gron fomml 3R Sa-aghaal i sgad ¥ It g3 o |

1) 9 TS © o SR R 2

(ii) Wﬁwmﬁwm?%léawww%@ﬁﬂl

(i) WRA ¥ WAk i fohd TR foem i Sfe-ugfaai i sgaa 4 Sien
TR ? 1+2+2=5

Read the given passage carefully and answer the following questions :

Above all, the linguistic states underlined the acceptance of the principle
of diversity. When we say that India adopted democracy, it does not
simply mean that India embraced a democratic constitution, nor does it
merely mean that India adopted the format of elections. The choice was
larger than that. It was a choice in favour of recognising and accepting
the existence of differences which could at times be oppositional.
Democracy, in other words, was associated with plurality of ideas and
ways of life.

(1) What is meant by ‘linguistic states’ ?

(i) Why were linguistic states formed in India ? Explain any two
reasons.

(iii) How is democracy in India associated with plurality of ideas and
ways of life ?

19. = fiu Tu Sraamor w1 eyHgds stewE Hifse it ffaRad weAi % 3w
& .
TFEAATE G Gt T ¥ Serqdeh WA S e 3R ffide
S o & | 3H SEeH % guede ST TSHifde dEdl ol Bihel S % fou
fEoe T1eAl o SEdAT o Ul | el od O | 39 R ... U ST SR 3
fgs ToRe THd $3 S HeH 3IBY, (e THHAGE] e wh T
Gl | 91 o TSl H T8 < o g 37T W H et T |
@) Wmﬁ%m%Wﬁmaﬁwﬁ?ﬁ?
(i) TE81 % U % FTANE, THIAdTEl TGl i FhRIcHS Rl h1

IATHeAT HIFT |
(i) 39 3T sl U & g q U FITW | 1+2+2=5
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Read the given passage carefully and answer the following questions :

The Naxalite Movement has used force to snatch land from the rich
landowners and give it to the poor and the landless. Its supporters
advocated the use of violent means to achieve their political goals. In
spite of the use of preventive detention and other strong measures
adopted by the West Bengal government ...., the Naxalite Movement did
not come to an end. In later years, it spread to many other parts of the
country.

) Why did the Naxalites prefer to use violence ?

(i1)  Assess the positive role of the Naxalite Movement in spite of using
violence.
(iii)  Suggest any two measures to contain this movement.
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Note :
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Study the cartoon given below carefully and answer the following questions :
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(1)
(ii)

Which country does the given cartoon refer to ?

Identify the two symbols in this cartoon which have given you the
clue about the related country.

Where does the cartoon place the related country in the
international power politics ?

(iii)

HETCTRIT 5797 SaeT GIRETIT Giemiorar & org, Jo7 G837 20 & €7 W& |/
The following questions are for the Visually Impaired Candidates only,
in lieu of Question No. 20.
(20.1) WTETET G g S TR & forel T w1 AW fofau |
(20.2) < U wfwrE g % am fafen, St wE @ fova B s g8 wfwat
HqEd € |
(20.3) =7 FTHR GAI S fferaed H dfvdsh TR W Gl oH * e
33T T foheal G haHl ol HedATeh i | 1+42+2=5
(20.1) Name any one country of Asia ruled by the Communist Party.
(20.2) Which two Asian countries consider themselves as the emerging
global powers ?
(20.3) Evaluate any two steps taken by the Chinese government to open
its economy to the world.
7 P.T.O.



21. feu U wraE & UsHifas WEwmtE |, o s sl @), @), ©, © aur

® g fafea form mn 2 | 9 & 78 IR % SMER W 3R TgEE I
3R ITWYFEThT H Ik WE AW, ITh! HU T&AT a1 rEf-Ud AR Hfgd

fofau - 5x1=5
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(i) 98 U o 7y Uew § @ I L S TR |

(i) 98 TS - Taaeal o 999Td WA H A9+ foere o1 foig fomam o |
(i) Tad WA H ATETE AR g IMd 98t U9 |

(iv) 19718 Y& TR T & HeT §311 T |

(v) BN I o SR N < &F § FYg a9 a1a T |
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In the given political outline map of India, five States are marked as
@), ®, ©, O and ®. Identify them on the basis of the information
given below and write their correct names in your answer-book with their
respective serial numbers and the alphabets concerned :

68° 72° 76° 80° 84° 88° 92° 96° 100°
1 1 T 1 T T 1 1 1
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80

km100 0 100 300 500 km

1 1 1
72° 76° 80° 84° 88° 92° 96°

1)
(ii)
(iii)
(iv)
v)

The State which was carved out of Madhya Pradesh.

The State which opposed its merger with India after independence.
The first State of free India having a Communist government.

The State adjoining Pakistan territory up to 1971.

The State which became agriculturally prosperous due to Green

Revolution.
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e : el 397 &aet giEaniaa ghemaal & o, Jv7 G&qr 21 & T |
g/

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Question No. 21.

(21.1) TEaFar | qd Tg-asg 1 fagra’ fohd Torifae g o feam o 2
(21.2) W =R Wargl % AW faflgy {98 Taasrdr & qearq. 9RdE g9 |

o =1 feriy feparm o 2
(21.3) I Y AR U9E ¥ HE K 99N I did Th-Ush TS hl W
fetfiae | 1+242=5

(21.1) Which political party advanced the ‘“Two Nation Theory’ before

independence ?

(21.2) Name four Princely States which resisted their merger with the

Indian Union.

(21.3) Name one State each which was carved out of Uttar Pradesh and

Punjab.

22. vafa eeht fohegl <fim famarent =1 avia it s dfvess Toifa & gg &4
T E | 3x2=6

YT
ToreEt 231 <hl 37TITEAT T ATSTRIUT o foheal oI THTET Rl UM hHITIT | 3x2=6

Describe any three environmental concerns that have become issues of
global politics.

OR

Describe any three effects of globalisation on the economy of a country.

59/2 10



23. T 3R IR o ARG H 9T o 90 H ¢l W Arel Thegl b STEnsTi o

U HIT | 3x2=6
AAAT

% Tehlee! AR HoEl b STES[G UHA o AR TSHIfdh Gl o ste AL

TEAfd % foheal oM forgaTi &l Ui ST | 3x2=6

Describe any three obstacles that delayed the merger of Jammu and
Kashmir with India.

OR

Describe any three points of consensus that emerged among most
political parties in India in spite of severe competition and conflicts.

24, TIH TS TR & goed & fova W UeHifaes qurat i favemo i | 6
FYan
I T 6 AfT T9TERITC ST e a9 o e IaterRh formal A hrehi
=1 forgermor ifse | 3x2=6

Analyse the political impact of hegemony of the U.S. on the world.
OR

Analyse any three factors responsible for the European Union to be a
highly influential regional organisation.

25. GUYH TP &I UNug § 9RA hl TR 9eEIdr o 9§ H hl dF SUYw doh

T | 3x2=6
AYAT

T g % AR % e A ATl WA RE TR Ygel g H T A

TN o WAl ¥ I & 2 379 3T o 987 H I8 S | 6

Give any three suitable arguements to support India’s candidature for
the permanent membership of the U.N. Security Council.

OR

How are the threats faced by the people in the Third World different from
those faced by the people living in the First World ? Support your answer
with examples.
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26.

27.
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1969 § Sh1UH TSl o fa9=H o Tohegl d9 SN ol TIs il | 3x2=6

rera
1980 % HeATATY THTE! o foTu ITert aifefaat 6t samen iV | 6

Explain any three causes of the split in the Congress Party in 1969.
OR

Explain the circumstances that led to the mid-term elections in 1980.

e ofifve fop sfta g 7 gar, o v feufa o wra 6 faew Hifd w @

U9 gl ? 6
raT

Ife wifaaa g9 o1 foeea 78 grar o fova fg-gada o war, ot o feufa o

Torgg gorifa w m gy v 2 6

Suppose there had been no Cold War, how would that situation have
affected India’s foreign policy ?

OR

If the Soviet Union had not disintegrated and the world had remained
bipolar, how would that situation have affected the world politics ?
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